Practice Test 1

M.C. Section

$$(5x - 7)^2 = 12$$

Take the Square Root of both sides:

$$(5x-7)^2 = \pm \sqrt{12}$$

$$5x - 7 = \pm \sqrt{12}$$

$$x = \frac{7 \pm \sqrt{12}}{5}$$

$$\frac{7 \pm \sqrt{3.4}}{5} = \frac{7 \pm 2\sqrt{3}}{5}$$

$$2 \times 2^2 = -8x - 5 \longrightarrow 2x^2 + 8x + 5 = 0$$

$$a = 2$$
; $b = 8$; $c = 5$.

 $x = -b \pm \sqrt{b^2 - 4ac} = -8 \pm \sqrt{8^2 - 4 \cdot 2 \cdot 5}$
 $2a$
 $2 \cdot 2$

3
$$4x^2 = 52$$
 $\rightarrow x^2 = \frac{52}{4}$ $\rightarrow x^2 = 13$

$$\rightarrow x = \pm \sqrt{13}$$
 Choice B

$$2x^{3} + 5x^{2} = 8x + 20$$

$$2x^{3} + 5x^{2} - 8x - 20 = 0$$

$$x^{2}(2x+5) - 4(2x+5) = 0$$

$$(2x+5)(x^{2}-4) = 0$$

$$2x+5 = 0 \quad ; \quad x^{2}-4 = 0$$

$$x = -\frac{5}{2} \quad ; \quad x^2 = 4 \rightarrow x = \pm 2$$

Solution set:
$$\left\{-\frac{5}{2}, -2, 2\right\}$$
 Choice B

$$\left(\sqrt{3x+18}\right)^2=\left(x\right)^2$$

Square both sides:

$$3x + 18 = x^2$$

$$\longrightarrow 0 = x^2 - 3x - 18$$

$$(x-6)(x+3)=0$$

 $x-6=0$; $x+3=0$

$$x = 6$$
; $x = -3$

Check Solution:

$$x = 6: \sqrt{3.6 + 18} = 6$$

$$x = -3: \sqrt{3 \cdot (-3) + 18} \stackrel{?}{=} -3$$

$$(x-5)^2 + 4(x-5) - 5 = 0$$

$$(u+5)(u-1)=0$$

$$u+5=0$$
; $u-1=0$
 $u=-5$; $u=1$

Choice D

Solve for
$$x: x-5=-5$$
; $x-5=1$; $x=6$

$$f(x) = x^{2} + 2x - 5$$
Find $f(-4)$

$$f(-4) = (-4)^2 + 2(-4) - 5$$

9
$$f(x) = 2x^2 - 5x - 4$$
. Find $f(x-1)$

$$f(x-1) = 2(x-1)^2 - 5(x-1) - 4$$

$$= 2(x-1)(x-1) - 5x + 5 - 4$$

$$= 2(x^2 - 2x + 1) - 5x + 1$$

$$= 2x^2 - 4x + 2 - 5x + 1$$

$$f(x-1) = 2x^2 - 9x + 3$$
 Choice A

$$D = \begin{bmatrix} -3,0 \end{bmatrix}$$

$$R = \begin{bmatrix} -2,2 \end{bmatrix}$$
 Choice D

11)
$$f(3) = 3(3) = 9$$
 Choice (

equal to 3 - second formula

Choice B

$$(3)$$
 $2x^2 - 15x = 8$

$$2x^2 - 15x - 8 = 0$$

$$(2x + 1)(x - 8) = 0$$

$$2x+1=0$$
; $x-8=0$

$$x = -\frac{1}{2}$$
; $x = 8$

Solution not

$$\left\{-\frac{4}{2}, 8\right\}$$

$$x^4 - 15x^2 + 54 = 0$$

Let
$$u = x^2$$
. $x^4 = (x^2)^2 = u^2$

$$(u - 9)(u - 6) = 0$$

$$u = 9$$
; $u = 6$

$$u = 6$$

Solve for
$$x: x^2=9$$
; $x^2=6$

$$x = \pm 3$$
; $x = \pm \sqrt{6}$

$$f(x) = x^2 - 3$$
; find $f(x - 4)$

$$f(x-4) = (x-4)^2 - 3$$

$$= (x-4)(x-4) -3$$

$$= x^2 - 4x - 4x + 16 - 3$$

$$f(x-4) = x^2 - 8x + 13$$

$$f(x) = x^{3} - x^{2}$$

$$f(-x) = (-x)^{3} - (-x)^{2}$$

$$= -x^{3} - x^{2}$$

Not the opposite.

f is Neither odd non even

Ennay nection

$$5x^4 - 500x^2 = 0$$

$$5x^{2}(x^{2}-100)=0$$

$$5x^2 = 0$$

$$5x^2 = 0$$
 on $x^2 - 100 = 0$

$$x^2 = \frac{0}{5}$$

$$x^2 = 100$$

$$x^2 = 0$$

$$x = \pm 10$$

18
$$(x^2 - 5x + 36) = (x + 1)^2 \rightarrow S$$
 grave both rides

$$x^{2}-5x+36 = (x+1)(x+1)$$

 $x^{2}-5x+36 = x^{2}+2x+1$

$$-5x + 36 - 2x - 1 = 0$$

$$-7x + 35 = 0$$

$$-7x = -35$$

$$x = \frac{-35}{-3} \Rightarrow x = 5$$

Chele:

$$\sqrt{5^2 - 5.5 + 36} \stackrel{?}{=} 5 + 1$$